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If the first and the second word match in duality or plurality, then the second
(the noun) would be the ‘lwiw’ (for if it was the ‘Jel&’, the ‘42" must have been
singular). Example: «$olu3)l olsBi»

However, if they both are singular, the second can be the ‘Js&’ of the ‘dae’ or it
can be the delayed ‘liw’. Example: «5duj #361»

When the first and the second word match in duality or plurality, the ‘Jelé&’ of

the ‘dax’ is not the second word, rather it is a hidden (‘) pronoun such as ‘La’,
lLA;:,T)’ l@) and ‘ﬁs,_
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